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Part I: Attempt all. 1 mark each.  

1. State the Pigou Dalton Principle, with an example. 

2. The process of demographic transition follows which of the following sequences: 

a. Fast growing population; high fertility and high death rates; low fertility and high death rates 

b. Stable or slow growing population; high fertility rate and low death rate; low fertility and low 

death rates 

c. Slow growing population, high fertility and slow death rates, high fertility and low death rates   

3. Localisation economies mean: 

a.    External economies of scale.  

b.   Positive externalities associated with the growth of a concentrated geographic region. 

c.   Agglomeration effects captured by particular sectors of the economy as they grow within an 

area.  

d.   None of the above. 

4. Because a borrower has ______, formal banking institutions require collateral. 

a.   Risk-loving attitude. 

b.   Tendency to use productive loans for consumption purposes. 

c.   Limited liability. 

d.   Both a and c. 

5. Which of the following features is commonly considered an essential component of sustainable 

development? 

a. Intergenerational equity 

b. Increasing Consumption expenditure 

c. Intergenerational inequity 

d. Increased level of saving 

6. Give one difference between development banks and microfinance institutions. 

7. Describe two features of the Green Revolution in India. 

8. Differentiate between direct and indirect taxes, with an example each.  

9. What is the inverted U hypothesis of Kuznets?  

10. What is the scale of poverty in India today?  



Part II: Attempt any 8 questions, 3 marks each 

1. Define the Foster-Greer-Thorbecke (FGT) Index. Solve the following numerical example: 

Consider a 10-person economy with a poverty line of 2, and the income distribution of the 10 

people is (1.5, 2, 2.5, 0.8, 3, 3.5, 8, 7.5, 3 and 6). The headcount ratio is 2. Using these numbers, 

find the P2 level of poverty.  

2. Addressing the educational gender gap has been a key part of the Millennium Development 

Goals. What are three reasons that make reducing the gap economically desirable?  

3. State and explain any three negative consequences of population growth.  

4. State any three functions of a central bank.  

5. Differentiate between Latin American and Indian agriculture systems.  

6. What are the roles women play in agriculture?  

7. Explain with a graph how a poor family is better off with a ban on child labour.  

8. What is meant by market failures? Give two examples of market failures that financial 

liberalisation cannot address. 

9. What are common property resources; what economic incentive problems do they face; and how 

have some communities successfully overcome these problems.  

10. Why are primary cities – generally the capital city – often disproportionately large in many 

developing countries? Which policies can address this?  

 

 

Part III – Answer any 4 questions, 4 marks each.  

1. Describe the Malthusian population trap. What is the impact of technological and social progress 

on the population trap? Explain with a diagram.  

2. What have been the main policies of poverty alleviation in India?  

3. What is the Harris-Todaro migration model? Explain with a diagram.  

4. What is meant by financial repression, financial liberalisation, currency substitution and 

unorganised money markets, and how do they relate to financial policy in developing countries? 

5. From Table attached (Table 5.6), what do the variables MPI, percent poor and poverty intensity 

indicate? Take two countries and compare their indices from the data in the table.   



  

 

  



6. The Tables below show the extent of household income, in two villages A and B. On the basis of 

your understanding of the data provided, answer the following questions.  

 

        Table 1 Descriptive statistics of total household income, study villages, in rupees 

Description A B 

Mean 96,418 85,579 

Median 50,026 42,120 

Minimum 1,710 -16,818 

Maximum 54,54,103 1,19,46,078 

Total number of households 350 1205 

 

 

  Table 2 Distribution of total household income, by income decile, study villages, in per cent 

Income 

decile 

Share in household 

number 

Share in total household 

income in A 

Share in total household 

income in B 

Poorest 10 2 1 

2 10 3 2 

3 10 4 3 

4 10 5 4 

5 10 6 4 

6 10 6 7 

7 10 7 7 

8 10 10 9 

9 10 12 12 

Richest 10 46 51 

Total 100 100 100 

 

  



Table 3 Distribution of households, by caste, by per capita income decile in village B  

Income decile Other Caste 

Hindu 

Extreme Backward 

Caste 

Backward Caste Scheduled caste (SC) 

Poorest 7 4 9 18 

2 4 8 17 15 

3 3 11 15 12 

4 5 13 10 12 

5 6 14 5 10 

6 10 13 0 11 

7 8 9 17 11 

8 12 13 17 4 

9 13 15 4 5 

Richest 31 2 5 2 

Total 100 100 100 100 

 

 

i. Which village has higher income inequality? Substantiate. 

ii. How does the income distribution vary according to caste/social groups in village B? 

iii. If you had to be a randomly selected person in a village, which village would you prefer to be in? 

 

 

 

 

 

 


